




















3 *The structure is noticeable, but the reader must infer it

*The paper may evidence inappropriate paragraphing, i.e., a one-sentence paragraph that
does not function as an opening or closing paragraph, paragraphs that do not state and

*Some points are presented, but may not be interrelated.

*The paper many include major digressions.

2 *A structure is attempted, but the reader must struggle hard to infer it.
*Confusion may prevail.
*There is little evidence of a cohesive plan in the attempted structure.
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*There is no evidence that the writer understands paragraphing (e.g. a shopping list with
each item forming a separate paragraph).

*The points are not logically related, or the reader has to make all the connections.
*There is insufficient writing to ascertain if a plan exists.
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